sign
3. Solve each for the variable
4. mmwwpmmmmwmwm

/B9 Solve [2x -1 = | Ex) Solve 4 + 212 + 3| = 28
I=1=5 ¢1~I=-5 3 at%aw! !
=G Ay=-f 3+3(= 123
¥ =9 (X=-3 . 3-*31,;@ F+3X= -1k
A2)-115 1aka)- I|=5 ii*q' x-:ﬁ
|ﬂ_| l 5 I-thl-E L{+El{ 1:.-_!.-"'3!.:?3 L;.}a 3.1..
| » ) 5)=af
151=8 4 -51=5¢ ﬂ Pl L +a}1—1135423
Finding x and y intercepts of equations with absolute value HraH=gey
* yintercept = setx equal to 0, solve for y. (0,¥)
* xintercept = sety equal to 0, solve for x using rules above. (x,0)
v’IEx} Find the xand y intercepts of “]?=QK+5I'5 A] y=—|x+ 10| cinik s X= 10
a) ¥int: 0=|8¥4561-3 Q) ximnk:C Sald Aipe s XK==1D
3% | RS .- 2 3
3'- ?145 4 -Fxe5 = =10
g =3 cd=Ax i lanil
X= -y Y= o,
fllﬁl". !I-.ja{ﬂ)*aj_.a , =10
1= 18]
=325 Radian and Degree Conversions

Converting from degrees to radians: multiply the degree measure by —
180
/ Ex) Convert 60° to radians
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Converting from radians to degrees: multiply the radian measure I:u.r =

’
Ex) Convert — ;- % to degrees
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